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‘show module’

Mod Ports Module-Type Model Status

5 0 Supervisor Module-2 N7K-SUP2E active *

6 0 Supervisor Module-2 N7K-SUP2E ha-standby
7 6 100 Gbps Ethernet Module N7K-F306CK-25 ok

8 12 10/40 Gbps Ethernet Module N7K-F312FQ-25 ok
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“show port-channel summary’



Group Port- Type Protocol Member Ports

Channel
10 Pol10 (RU) Eth LACP Eth7/1(P) Eth7/2 (P) Eth7/5(P)
20 Po20 (RU) Eth LACP Eth7/3 (P) Eth7/4 (P) Eth7/6 (P)

switch# show interface counter errors

Port InDiscards
Eth7/1 253323164
Eth7/2 253682395
Eth7/3 66785160 >>>>> input discards on interfaces 7/1-6 are incrementing

continuously. These interfaces belong to Pol0 and Po20 which eventually goes into suspended
state with reason “no LACP PDUs received”

Eth7/4 64770521
Eth7/5 258650104
Eth7/6 66533418
Eth8/6 0
Pol0 765655663
Po20 198089099
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switch# attach mod 7
Attaching to module 7
To exit type 'exit', to abort type 'S$.'

module-7# show hardware internal gengine vog-status | ex "00O0OOOOOOOOGOGQ O"

| vOQ Status for Queue Driver
| ports 1-48

VQI:CCOS INSTO INST1 INST2 INST3 INST4 INSTS

0:0 0 0 0 0 0 0

0:1 0 0 0 0 0 0
145:6 0 0 0 0 0 0
145:7 0 0 0 0 0 0
146:0 0 0 0 0 0 0
146:1 144 130 533 79b 258 447
146:2 5 44 7 12 la 2
146:3 2325 2277 lae8 1la39 27bc 1902
146:4 0 0 0 0 0 0
146:5 0 0 0 0 0 0
146:6 0 0 0 0 0 0
146:7 0 0 0 0 0 0
147:0 0 0 0 0 0 0
147:1 0 0 0 0 0 0
147:2 0 0 0 0 0 0
147:3 0 0 0 0 0 0



VQl= 146 LCt.

VQI === 1460{|= 00| otl 7} 2E7t U2 AL I+ LICH
1682 HEt:
switch# hex 146
0x92
switch# show system internal ethpm info module | egrep -i vgi
LTL(0x36), VQI(0x42), LDI(0), IOD(0xl4c)
LTL(0x37), VQI(0x43), LDI(0x1), IOD(0x14d)
LTL(0x38), VQI(0x44), LDI(0x2), IOD(0x1l4de)
LTL(0x39), VQI(0x45), LDI(0x3), IOD(0x14f)
LTL(0x72), VQI(0x8a), LDI(0Oxc), IOD(0x62)
LTL(0x76), VQI(0x8e), LDI(0x10), IOD(0x63)
LTL(0x7a), VQI(0x92), LDI(0x14), IOD(0xeb) >>>>>>> VQI 0x92 maps to LTL 0x7a
LTL(0x7e), VQI(0x96), LDI(0x18), IOD(0xe7)
LTL(0x82), VQI(0x9a), LDI(0Oxlc), IOD(0xe8)
LTL(0x86), VQI(0x9e), LDI(0x20), IOD(0xe9)

/M O E 2 AI2610{ LTLE E2|X QIE{H|0|A R BEt
PIXM LTL 2! FPOE D& & Zt2l5t0d ALY XIE Sl StERO] ZE B2 E FELICH

switch# show system internal pixm info 1tl 0x7a
Member info

PHY_PORT Eth8/6 >>>> congested egress interface.
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switch# show hardware queuing drops ingress
slot 7

Device: Flanker Queue

PL drops:

SOURCE INTERFACE VL COUNT

Eth7/1 5 24437734
Eth7/2 5 24289997
Eth7/3 5 24449567
Eth7/4 5 26084373
Eth7/5 5 27840523
Eth7/6 5 21043740
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02 02
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switch# StEH0] LHE @F EA|

‘show hardware internal errors’

| Device:Flanker Eth Mac Driver Role:MAC Mod: 7 |
| Device Statistics Category :: ERROR
= |
5236 igr rx pl: cbl drops 0000000000069679 8
5282 egr in pl: total rcvd pkts with drop 0000000001951540 8

indication from eb
5321 egr out pl: total pkts dropped due to cbl 0000000000034829 8
5477 igr PL: bpdu drops(v15) 0000000000004986 2 <<<<<<<<<<<
5480 igr PL: nde drops(v10) 0000000000098993 2
5485 igr PL: nde drops(vl5) 0000000002291236 2 <<<<<<<<<<<
5496 igr PL: Q threshold drop bytecount (v10) 0000000000344607 2 -
13453 [intr] IPL intr: parser truncated mlh error 0000000000002946 2 -
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